(| o \i ’ / pnl
@ e o e, 0.

[ROB. s:1Y
| y

\ VEEEY o
; y /g

f
|
i
!
|
l
[+
\
[
J
i
|
!
%
i
!‘

\

V. 3h _ 2a)
5’\ = {9\(.7 M
€ =7 mn \

?(( B %Z) o Zcﬁl/ MM




(RoB, Sil{
I — 3 20)
\7 - '] = 7:2 M m

Y= 120 =72 = YFmm

VI %
;?TA( & ’CQ\XLM) = 6000 i

5

;(TA( = (2:6,{ Yéoﬂw> = 69 x /Ufmnf

3(7 /4: 2 ( L(‘Siﬁﬂﬁ) = 7,35 X/oﬂ/,fmj
TRANGULAR  ACER -

1 /

-—

YT a5
3= % =75 wmm

~ [ |
o =3 bh =3 ()5 ‘:-225‘%{“

z/



\@

kv, s

- 4
;' Xo Ay = (2.7%225‘0):-5763 x(t mm}

‘f; A, = (20{1250) ==l § ;(/(Q i

7( — (4d0) +(~2250)

,&L_A (167507 + (~5.63 x0")

)

3ﬂ 2 m

f\f: ZL_B (233 x0”) ¢ (-45 xi0") LM j
fl mm

%

i

(4000 ) + (2290)/



